= H O
M = 0l &8 AF & H Al A
201295 =& 1 3 LBtg ) SSE0UIAA ~ SEoA
2A: SEUAA
M =0 MY H &2
S DAHOE I AHI A CEEREED
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH J| & @ HusZ
SEoAAA 998,794 596, 365 402,429
= 52,673 68,825 A 16,152
= 30,690 20,036 10,654
= 915,431 507,504 407,927
0l A Ho &2 981,280 578,851 402,429
= 52,673 68,825 AN 16,152
== 30,690 20,036 10,654
= 897,917 489,990 407,927
DHOEE O AHIA 492,226 414,186 78,040
= 51,173 51,173 0
= 441,053 363,013 78,040
A= gRFX 112,710 40,710 72,000
401 A& UL LY 18,000 0 18,000
01 Al &2 HI 18,000 0 18,000
1NsHEeI&AH AHO0E XMealdl
18,000, 000& 18,000 0 18,000
403 MRS S K20 54,000 0 54,000
02 2| 2SOlCHsti s AFZ I 54,000 0 54,000
1)20128 A FAH S FEHINE =AY
54,000,000 54,000 0 54,000
EX&e gRFH 92,781 86,741 6,040
201 82| 81,091 80,091 1,000
01 At22t2ldl 81,091 80,091 1,000
NHLEES HEHIE M2 (U=2EE)
1,000,000& 1,000 0 1,000
202 44| 11,690 6,650 5,040
01 2L bl 11,690 6,650 5,040
DEXIHH HAB I X (U=2HA)
3,360,000 3,360 0 3,360
NESAMSIAE el el 2 A (U=2EH)
1,680,000& 1,680 0 1,680
Fol = XA 64,634 63,847 787
= 14,630 14,630 0
= 50,004 49,217 787
228 B EX 22232 A 1,967 1,180 787
= 590 590 0
= 1,377 590 787
201 B2 H| 1,967 1,180 787
< 590 590 0
= 1,377 590 787
01 At22t2ldl 1,967 1,180 787
Na838X EX ANEBE Hel 58 =42
33 1,967,000& 1,967 1,180 787
= 590 590 0
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Sgoas
ZE: 0 #Y Eo &R
Chel: FOI9IFE XX (S 3d)
SA-ZH - S2A(3AH) - MEAME - HES Ol &t oH J| N Hns2
| | = 1,377 590 787
MZEL e 424,420 100,818 323,602
2 1,500 17,652 ~16,152
= 16,060 5,406 10,654
2 406,860 77,760 329,100
CEY Y ASYS PO 13,660 42,464 /28,804
2 1,500 17,652 ~ 16,152
= 4,060 5,406 1,346
2 8,100 19,406 A 11,306
201 ger2 g 10,160 42,464 NA32,304
2 1,500 17,652 ~16,152
= 560 5,406 14,846
2 8,100 19,406 ~ 11,306
01 AbRZeldl 5,000 37,304 A32,304
NERYFAIIZE ANFSHE N (U2SHH)
2y o 0 32.304 ~32,304
=2 0 16,152 ~ 16,152
< 0 4,846 ~4,846
2 0 11,306 A~ 11,306
401 Al HIZL S I 3,500 0 3,500
= 3,500 0 3,500
01 Al&H] 3,500 0 3,500
NE2e BAET2 ALS XY
3,500,000 3,500 0 3,500
= 3,500 0 3,500
TAHE PRFEX 364,314 40,354 323,960
201 L2 26,754 27,754 ~ 1,000
01 AbRZreldl 5,758 6.758 ~ 1,000
1)erg| 2,678 3.678 ~ 1,000
2NL2EZ HLHE MBS2Z(BSTY)
2y 0 0 1,000 A 1,000
202 04 7.560 12,600 ~5,040
01 2L 7.560 12,600 £5,040
DNEXIAAAG I SR (USHH)
2y 0 0 3.360 ~3,360
NESASIUE HEDEHE (22 H)
2y o 0 1,680 1,680
405 Xt aHF S 330,000 0 330,000
01 Ha L SEFSH| 330,000 0 330,000
N2IBLEE SSHHAAE HW 2=
154,000,000 154,000 0 154,000
N2NBAHE SEHHALE S/W P
176,000,000 176,000 0 176,000
CREFALIIEE AXNFHE NEAY 11,306 0 11,306
403 XXM EXH=0IH 11,306 0 11,306
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=5t Al
M =0 MY H &2
S ME=A 22 (&9 HM
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
02 2| 2SOolCHsti s AL I 11,306 0 11,306
NESYEZAIEE AXNEFEHT NAAG (U=
a28) 11,306,000& 11,306 0 11,306
C2H FAANY(EX) 17,140 0 17,140
= 12,000 0 12,000
= 5,140 0 5,140
401 AlEHIL 2 HHI 17,140 0 17,140
== 12,000 0 12,000
= 5,140 0 5,140
01 Al & HI 17,140 0 17,140
NEgm S GUAE &5 17,140,000& 17,140 0 17,140
== 12,000 0 12,000
= 5,140 0 5,140




